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01 AL 22l 36,128 38,668 A2,540
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OFEAN B34 EH 2 & 64,350,000 64,350 73,925 A9,575
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IM2E K& 83,300 71,860 11,440
32F ¢ IE BE 46,800 49,260 A 2,460
201 L Er2 A | 46,800 49,260 A 2,460
01 Ar2 22l bl 45,900 48,260 A 2,360
O1 et==2Hl 43,900 46,260 A 2,360
D> AIE 325 (30%) Z & 17,640,000 17,640 19,600 A 1,960
>Eo2d JIZ2AMREs ZE 3,200,000 3,200 3,600 A 400
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>EIIE2E FA22 2 & 900,000& 900 1,000 A 100
o F A 36,500 22,600 13,900
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DOARES JISEE AIQAUSF
2 & 2,500,000 2,500 3,000 A 500
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DofEMA A Z & 18,000,000 18,000 20,000 A 2,000
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